Q;L% MANUAL SWING GATE Installation Procedure

Head Assembly M12 Washer

(x4)

M12 Nut
(x2)

M12 x 40 Bolt
(x2)

Rail Exploded View
Wall Mount Assembly

¥—MS8 Nyloc Nut

\MS Washer

M8 x 60mm Bolt

M8 Bolt —/

M8 x 25mm Bolt

* M8 Nyloc Nut
o ( (x2)
M8 Washer l (o M8 Washer
Brace (x4)

Assembled View

IP36_Installation Procedure - MSG5000 © Copyright 2016  www.barriergroup.com.au



Q;L% MANUAL SWING GATE Installation Procedure

Optional Mounting Post
& Receiver Post

- T
(=] E%I A S NSNS SSSSSSSNSSSSSSSSSSSSSSSSSSSSSSSSSSSSSSSSSSSSSSSNSSSNSASNSN\NSS====

Receiver Post
(C90)

IP36_Installation Procedure - MSG5000 © Copyright 2016

www.barriergroup.com.au

j

Maximum Clear Opening: 4850mm
Overall Length: 5215mm

Mounting Post
(C140 or CS150)

Important information.
Read carefully.
Keep this information for further reference.

WARNING

The gate will not provide optimum performance unless it is installed correctly. For satisfactory gate operation please follow
the instructions carefully.

NOTE: No guarantee will be given or responsibility accepted by the manufacturers if the gate is not installed as instructed.
Barrier Group do not warrant the work of 3rd party contractors.

BEFORE YOU START

1. The installer must ensure the desired mounting point for the gate is level, plumb and rigid.
2. Use fixings appropriate to the material into which they are being fixed (not included).

3. Check all parts are included. Contact Barrier Group immediately if you are missing a piece.




